AST 406

: Analysis of Mechanisms
Mechanism #1

Consider the ratchet mechanism illustrated below. (You can view the animation at;
https://www.youtube.com/watch?v=GSABMOGR-j8.)
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Mechanism #2

/' Consider the mechanism illustrated below. (You can view the animation at:
— https://www.youtube.com/watch?v=QSRaQfbgLl.)
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33 3. Why must the link between the short arm and the small gear be partial? K
=" U _conrection of Ha phod o K2 ol
consequence of this error? How does it affect the functioning of the mechanism? W (.c‘.,{_@
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Because of an error in manufacturing, the long arm is longer than it should be. Whatis a|
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Over time, the block has started to get stuck in the base. What could be done to fix this Qo
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